CALCULATE
PERIMETER







1) Complete the statement below
30 mm = cm

2) Find 2 ways to calculate 94+ 3 +9 + 3?

3) What is the difference between 9 and 57



1) Complete the statement below

30mm= 3 cm

2) Find 2 ways to calculate 94+ 3 +9 + 3?

— —
double 9 = 18 19 »
double 3 =6
18 + 6 = 24 double 12 = 24

3) What is the difference between 9 and 57

9—5=4 54+ 4 | =9







What is the perimeter of the rectangle?

1cm
S s 4

1ch A 5lcm

5cm+4cm+5cm+4cm=18cm



What is the perimeter of the rectangle?

7 cm

3@&mm

Perimeter =20 cm Opposite sides of a
rectangle are equal

/cm +3cm +7cm +3cm =20cm

White

Maths



What is the perimeter of the rectangle?

2cm
Have a think m

Opposite sides of a
rectangle are equal

Perimeter = Bom?

bcm +2cm +6cm +2cm =16cm

6cm

White

Maths



6cm
6bcm + + 6cm +
bcm X 2 + X2 =16cm

8cm X2 =16cm

= 16Cm



Which shapes have a perimeter of 12 cm?

2cm

6cm

dcm+2cm=6Cm

bcm X 2=12cm

4 cm

v

ocm+ 2cm =8cm
8cm X 2 =16cm

2 Ccm

30mm =3cm
3cm X 4=12cm

30 mm

v

Have a think



o Tuey 2

Have a go at questions @
1 -4 on the worksheet




What is the perimeter of the shape?

1cm
S s 4

1ch 2cm

3adm

5cm 3 3cm

5cm

[2cm+3cmj+[3cm+2cm}+5cm +5cm =20cm




Perimeter = 18 cm

5cm

White
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Have a go at the rest of
the worksheet




